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o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.
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(i) Fo7 F@T 1 & 23 % FGEBHAT F97 81 RT TG AT T § @ g &l Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
g g% 997 1 3% & &1 el FT YA Fav-Yikrm [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. 79 & 9 3-8 d $Y 78 o 7 1
(a) ST P (B) i3 iy
(C) T Py (D) AT ST P
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming
2. Tad frameay fFe R W AR § 7 1
(A)  HIIICT (B) #M
(©) wd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production
3. ROl oWRe § waiyd SEE gl TR DHA-91 & ¢ 1
A) RA-T-s=Q (B) AH EE
() ¥Herd (D) WA drt
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo
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4. IR ¥ el qel H, B el SEEn Bl ey ? 1
(A) 3000 (B) 4000
(C) 5000 (D) 6000
What is the population of an urban town in India ?
(A) 3000 (B) 4000
(C) 5000 (D) 6000

5. fopmasha st @ SHeen & amie e & fawm wd sTasaddnst @ it # -8 TR
% T RS o 7 1
(A) fi= (B) A
(C) Ml (D) WIS

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social

6. Ad o gEH® (2005) & ded § fzg % AW § 9Ra @ Ffeiad & § w-9 Fie
7 1
(A) 126 (B) 128
(C) 127 (D) 129

Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?

(A) 126 B) 128
(C) 127 (D) 129
7. [ T9-fEiEmE & gl 6 ? 1

(A) TBifteT I (B) ReX

(C) = (D) &fdres

Who proposed the concept of Neo-determinism ?

(A) Griffith Taylor (B) Ritter

(C) Blache (D) Huntington
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8. TUNAY T H fE IUMH BT HWE O F FIANT {4y ? 1
(A) &g e (B) i fasawor
(C) &= fafrar (D) =TEIN®
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
9. I M gadi® & @I 1 8 1
(A) 0.6 § W (B) 0.7 § W
(C) 0.9 § W (D) 0.8 § W

What is the score of high development index ?

(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8
10. fFH WRIEN # SHer gfs ) |t © 7 1
(A) Tl (B) SThIH
(© Zu (D) srefr
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
11. Fr=fafad § @ -1 06 fRa S a8 78 ¢ ¢ 1
(A)  STETRMT (B) HERENY Yaq
(C) aRrer-gat uiRmE (D) A Foa
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions
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=g & @ ®F-a1 faee @1 9aag 9o & °?

(A) TR ¥ & (B) TN ¥ g UReacH

(C) R F Rerar (D) IO # |rEmer gfec
Which one of the following best describes development ?

(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality
fretfeiied & | $F-61 Th 7 T H IJUFH 78 8 7

(A) &= A (B) HETH® I

(C) wnis e (D) 3TN &R Ui

Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organisation (D) Exploration & description
TS A T e Susimen § Hed © 7

(A) EHEISTE T (B) THIE T

(C) ik st (D) SFEE T

To which field of Human Geography does Psychology belong ?

(A) Social Geography (B) Urban Geography

(C) Economic Geography (D) Population Geography
fosm & 0 Haife SHeE a3l 7 fgg Seen & fhan giied A9w 8 ?
(A) 50% B) 60%

(C) 70% (D) 80%

The ten most populated countries have World Population :

(A) 50% B) 60%

(C) 70% (D) 80%

foea # waiftes SeeAr a a9 HE-a1 § 7

(A) ¥4 B) w4

(C) =@ (D) SR

Which is the most Populated Country ?

(A) India (B) Russia

(C) China (D) Germany
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o werEly & g &9 B 7

(A) (B) siegfemn
(C) I AR (D) TR

In which Continent, low sex ratio is found ?

(A) Europe (B) Australia
(C) North America (D) Asia

qMe famE & B-a gd fag 78§ 7

(A) el T% qed (B) W W@ReA

(C) famm (D) & o

Which is not a key area of human development ?

(A) Access to resources (B) Good health

(C) Education (D) Industrial development

PIF-T1 39 A [ gk 7 fsg § vew @M W B 7

(4)  SEf (B) FwT

© (D) ST

Which country ranks first in world in Human Development Index ?
(A) Australia (B) Canada

(C) Norway (D) Germany

frefofaa & & frem d@ge org ofiia & o ergua &1 T fean B 7
(A) 959 HrElic SHEA H AT A

(B) g&uI &l I==F S &
(C) Tl & 1 s X
(D) el @1 S=a Ia™
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Which one of the following has caused the sex ratio of United Arab Emirate to
be low ?

(A) Selective migration of male working population
(B) High birth rates of males
(C) Low birth rates of females

(D) High out migration of females

21. Fr=farea & & 60 weE & sHae s aiis § 7 1
(A)  STBRR (B) i
(C) ferer STHfER (D) A STHRH
Which one of the following continents has the highest growth of population ?
(A) Africa (B) Asia
(C) South America (D) North America

22. Frefaied & @ S9-91 Th qRiess g & A 78 ° 1
(A) AT B fFER (B) Y= HMeH
(C) o= & FCerl Tl & T (D) YN HerheA

Which one of the following is not a source of Geographical Information ?
(A) Travellers accounts

(B) Old maps

(C) Samples of rock materials from the moon

(D) Ancient epics

23. &= § § -4 A1 HEd 78 © ¢ 1
(A) il (B) =T
©) (D) S
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber
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30.
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qRd & HF-Hl 997 999 IfeE @ g Sl S ® 7

Which language is spoken by most of people in India ?

SN T HIF-G1 SN Jo9 891 997 & °

Which Industrial Region of Japan is densely populated ?

frlige iR il @ e T | fed B 7

In which State is Kiriburu mine located ?

YT ¥ Tl THea 9 -9 § 7

Which is the most urbanized state of India ?
WA wed o fomge e e § R 7

Which state has the highest sex ratio in India ?

4 e T M g fhee o ?
Who wrote the book 'The Limit to Growth' ?

I TR & 999 98 TR &l A Rl

Name the largest Metropolitan City of Uttar Pradesh.
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